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1 |deiEE 2.0E+2 1.8E+3 2,012.2
2 |EAHER 3.0E+2 4.0E+2 697.8
3 _|AFER 8.5E+2 1.3E+2 982.6
4 |=Ee 1.5E+2 2 7E+2 415.2
5 |RHEER 8.8E+1 88.4
6 |[ILFR 4 5E+2 1.3E+2 582.6
7 |EBE 8.0E+2 1.3E+2 932.6
8 |ZHE 6.5E+2 3.5E+2 1,003.6
9 [HARE 5.0E+2 4 0E+2 897.8
10 |HER 2.0E+2 3.1E+2 509.4
11 |BER 5.0E+1 4.0E+2 4478
12 |FER 1.2E+3 4 AE+2 1,642.0
13 | AR 2.4E+2 240.0
14 [wZE)IE 3.0E+2 4 AE+1 344.2
15 |3RE 1.5E+2 4 AE+1 194.2
16 |EWE 1.0E+2 100.0
17 |BNE 1.5E+2 150.0
18 |f@HAR 1.0E+2 100.0
19 |IWFRE 1.5E+2 150.0
20 |RHE 8.0E+2 2.7E+2 1,065.2
21 |IKEER 1.0E+2 100.0
22 |#5MER 7.5E+2 4 AE+1 794.2
23 |BHIE 5.0E+2 2.2E+2 721.0
24 |ZEE 2.0E+2 200.0
25 |#ER 5.0E+1 4 AE+1 94.2
26 |FRABAT
27 | XBAF 2.0E+2 200.0
28 | EER 5.0E+1 50.0
29 |E=RE 1.5E+2 150.0
30 |FFLE 4.2E+3 4,150.0
31 |BRE 2 5E+2 4 AE+1 294.2
32 |ERE
33 |EWE 4.0E+2 4.4E+1 4449
34 |[LEBR 1.0E+3 1.8E+2 1,176.8
35 [lAg
36 |EEER 5.0E+1 50.0
37 |BINE 3.5E+2 8.8E+1 438.4
38 |ERE 1.0E+2 100.0
39 |=HE 9.0E+2 3.1E+2 1,209.4
40 |fEREE 1.5E+3 1.8E+2 1,626.8
41 [EER 5.0E+1 8.8E+1 138.4
42 |RIBE 4 5E+2 450.0
43 |RERE 1.6E+3 1.8E+2 1,726.8
44 | KHE 1.5E+2 4 4E+1 194.2
45 [EIBE 1.5E+2 1.3E+2 282.6
46 |[ERBE 3.0E+2 8.8E+1 388.4
47 g 2.5E+2 4.4E+1 294.2 |
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